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1 Response surfaces

Here all response surfaces are supplied for the interested reader. Surfaces for each of the partitioning schemes (Nos. 1-4)
discussed in Sect. 2 of the main text are presented in the same sequential order. Sections 1.1-1.3 correspond to the marine

average, rural continental and polluted continental environments, respectively.



1.1 Marine average
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1.1.2 Case2: aP o’
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1.1.3 Case 3: a"Po™f
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1.14 Case4: aP o™f
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1.2 Rural continental

1.2.1 Case 1: a™Pof
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1.2.2 Case2: aP o’
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1.2.3 Case 3: a"Po™f
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1.2.4 Case4: aP o™f
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1.3 Polluted continental

1.3.1 Case 1: a™Pof
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